SULIT 2 3472/1

MARK SCHEME FOR ADDITIONAL MATHS. — MPP2 (PPT)

PAPER 1
No Mark Scheme ¥ Marks
1 5 2
2
3= x+10 B1
X
2 17 3
m=5-4n B2 3
3m+n(12) Bl
3 2
p=228 2
. 2
(-20)° ~4(2)(L-2p) =0 B1
4 h=100, k =100 (both) 4
h=100 or k =100 B3
1 s
Zlog10 h= > or log, k=2 B2 4
X2 1
log,, y =log,, k +Z log,,h OR s > and c=2 Bl
5 @ h=1 1
9
b) k>-— 2
(b) > 3
62 —4(1)(2k) <0 B1
6 @ g=9, p=-1 (both) 2
P4-1)2+9=0 Bl 3
(b) 0<f(x)<9 1
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SULIT 3472/1
7 a=23,—3 (both) 3
b=9 and b=-2 B2 3
b® =7b+18 or equivalent Bl
R —— 2
4p
: 1
log, 6% and log, = Bl
2 4
(b) 1-p 2
6
log, | = Bl
o.(2)
9 (a) AB:BC=1:2 3
w_2 B2
n 2
sn—m 3 B1 4
m+n
(b) r=6 1
10 Wrong and y-intercept =—1 4
y-intercept =-1 B3
y-(=3)
=-2x-1 OR ——==-2 B2
y 0-1 4
(4,—3) and m=-2 OR
JX=ED) +(y=(4) =(x=3) +(y-(-2))’ B1
11 @ 17 1
(b) 8 2 3
46 — 38 Bl
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SULIT 4 3472/1
12 (@ 8 1
(b) 1.609 3
P(4)+2°(9)+3'(5)+4°(8)+5°(L) 1(4)+2(9)+3(5)+4(8)+5(11))2 582 4
40 40
1(4)+2(9) +3(5) + 4(8) +5(11) B1
40
13 (a) 1.542 1
(b) 28.45 2 3
6(27—1.542) Bl
14 2w
a — 1
(@) g
, 3.
by L2 3
(b) = Tl
z 4
V4 3N
2(= 12 -==j° B2
(61 5 i)
(lj(f)zatau (—J(Jz)sm— B1
2 3 3
15 a=2,b=4 (both) 2
2
10a(2k —-1)* Bl
16 p=2, q=6 (both) 4
Solve the linear simultaneous equation in one unknown B3
4
9p-39q=0 and p+q=8 B2
9p-3q=0 or p+q=8 Bl
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SULIT 5 3472/1
17 a=-13, d=12 ( both) 3
a=-13o0r d=12 B3
- - - - 4
Solve the linear simultaneous equation in one unknown B2
Te=a+5d=47 or Si=-—[2a+ 9d]= 410 B1
18 -
@ y= 64 —5x 5
8 =_yg5 B1
X 4
(b) 32 2
16
S, = 1 B1
19 -
—+6a+— 3
a
3(a)” 3(-2)"
{ (2) +2(a)}—{ (-2) +2(—2)} B2 3
-1 -1
£)
AN B1
20 k k
(@ [ f9dx—[(2x)dx 1
0 0 3
by 2 2
10— [x°]f =6 B1
SULIT

3472/1 @ 2020 MPP2 (PPT)
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21 1 :
plot xy against — , m=-2q and c=2p or equivalent 3

X
plot xy against 1 or m=-2q and c=2p B2 3
X
1 .
Xy =—2q (—j+2p or equivalent Bl
X

22 3
a 1
@ (3
(b) 4i+] 2 3

—(3i+4j)+(7i+5j) OR - S B1
T= T 4) \5
23 (@ k=3 2
l
3k=9 OR r—2=3(5j Bl 3
7
b) r=- 1
(b) ;

e 0°,360° (both) 3
(cosx+3)(cosx—1)=0 B2 3
2(1-cos x) = —(1—kosx) B1

25 (@ -k 1

1
(b) 2 2 3
1-k
1-k? B1
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